Solve and graph the inequality.

17 < 5+8h
A) n=2-20:
26 -24 -22 -20 -18
B) n>-49:

=52 =50 4§ 46 44 42

L) n2-207 N -

-26 -24 -22 20 -18

D) 129! i @ittt
6 8 10 12 14

i
Ld L

2)

Solve and graph the inequality.
in-1>76

A) 1> =2 @ttt

B) n>-50:

X
3) the Solution for this inequality : — +.& >¢

IS x < -20,

Is this true or false

true

false
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4) Do | need to flip my sign?
X 2TZ

Yes, because I'll be dividing by a negative number

No, because you never flip the sign.

9)  Solve 8+ 4x > 24

X>4
X=§8
X > 64

X< 8

6)  solve multi step inequalities : 3 <-5n + 2n

A=
n>T
n<-T

n>-T
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7)

8)

Solve: 7(x +3) < 5x + 13

X>17
X<-4
e |

x>-4

Pick the correct letter for:

X-14<-8
-15 =12 -9 -§ =3 0O 6
=J5 =12 -9 -§ =3 0 6
e S S————
1512 9 6 -3 0 6
D e
~15=-12 9 6§ =3 O

12 IS

12

15
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9)

Solve this multi step inequalities

2(a-8)=-2a

a>4
az-]
as-2

No solution

10) When graphing an inequality, you use an open

dot for which symbol?
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12) Match the inequality to the picture given.
A) x22 D e g

T765432-10123458617
B) x<2

C) X<2

13) Write the inequality for the graph up above.

G p——— - >

76-54-3-2-1012345¢67
A)s>2

B) s<2

C) s>2

14) Solve the inequality. -15 < 5b
A) b>-3
B) b>1/3

C) b<«-3
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